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1] DO f(x,y)DDDDDDDDDDDDDD//f(x,y)dmdyDDDDDDDD
D

() D={(z,y) eR*|0<2<1,0<y<2}, flx,y) =y’

@)D= {@y) R 1022 2<y<3) floy) = ——.

BYD={(z,y) eR*|0<z <7 0<y<n/2}, flr,y)==xsin(z+y).
2

@ D={(z,y) eR2|0<z<1,0<y<1}, f(x,y)—xgyzﬂ.

(5) DO (0,0), (0,7), (m7,m)DOOOODOOOO, f(z,y) =cos(x+y).

6) D={(z,y) eR*|0<2 <1, 0<y <Va}, flz,y) =e.

(DO y=2*02=4*0000000, f(z,y) =y

(8) D={(z,y) €R*| Va+§ <1, 220, y>0} flz,y)=ay.

2] DO f(w,y)DDDDDDDDDDDDDDDD//f(a;,y)dwdyDDDDD
D
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(1) b0O (0,0), (0,1), (1,1H)DODOOOOOOO, f(r,y) =

1— 22

1
(2) pOOOOODO, f(x,y):\/(l_xQ)(l_y2>.
B)DOy=2*0y=200000, f[f(or,y)= ! .

x2_y2
4) D={(z,y) eR*|z>1, 0<y<a?}, f(l",y)zziy
1

(5) D =R?, f(l‘;y)zm-
(6) DOODDOOO, f(x,y)=(x+y)e ™V
(1) D={(z,y) eR*|0<a <y}, flz,y)=e".
§) D={(e.) € [0S0 <1 0<y< 1) flow) =



3] DO fO00000O0O0O0O0OOOODO fO0DODOOOOOOOOOOOOO
ggboboboogoboboooon

(1) D= f(z,y) = (a2 +y?)e "
(2) D ={(z,y,2) €R* |0 < 2y, 2 <7/2}, f(x,y,2) =sin(z +y+2).

B)D={(0,y) R |2+ <1}, f(5,0) = ———.
——

1
(4) D ={(z,y,2) e R’ | 22+ y* + 2 < 1}, f(z,y,2) =

\/—ac2 — 2 — 22

9 1
(5) D=R" f(z,y)= CEEerEn
(6) D=TR> f(x,y) = (x+y)e "

(7) D ={(z1,29, - ,2) ER" | my + 20+ -+ 2, <a} (a>0),

f(x17$27 7xn)_x$2"'xn-

40000 VO00O0oO0oO
DV ={(r,y,2) eR* |22 +92 <a?® 0< 2z < 2%} (a>0).

(1)
2)V ={(z,y,2) ER® | Vo + 5y <1, 22 <ay}.
(3)D o> 00000000000 00DOO0O0OOOVOOOOOOOO
@V ={(z.y.2) € R’ | af +y5 + 25 <al} (a>0).
(5) V ={(z,y,2) R | [oy| <1, |wz| < 1, Jyz| < 1},

1
<mv:{x% ) e R m+m<||m+m_||u+m<|&

p|00000D000OO0ODODOOO

MO0 22+y*+22=a?(¢>0)000<2<c0000000 —a<b<c<all
(2)00 22 =4dar (a>0)0000¢?*<ar—2’0000000
(

3)zy000000r=a(l+cosh) («>0)0200000000000000
0oo

(4)000000000000ODOOOO0OO

= u?, y:ﬂuv, z=2v% WP <1
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